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Assertion (A): The device of Adjournment motion is not used by the Rajya

Sabha

Reason (R): An Adjournment motion does not result in removing the

Government from office

a. Both (A) and (R) are true and (R) is the correct explanation (A)

b. Both (A) and (R) are true but (R) is not the correct explanation of (A)

c. (A) is true but (R) is false

d. (A) is false but (R) is true

e. Answer not known

amBpl  (A): @dHHewallll]dh SHTOTRID  LDTHEOBIGETMAILITE  LIWGSTLIGSHSLILIAIS]

&HlemL_WITSI

sryewid (R): @sHdmelilyd  STotealnd SPFmmhssHmBL  usbaluled  Smbal

SIBBBI6UH 60606V

a. (A) ioppb (R) @pewiBo afl Cwenbd (R) erteug (A)eler gfluimer elenéasid
SI606V

b. (A) wppw (R) GyewiGn &f owemmed (R) eteiug (A) et gfluimen
eMHHLD BI6V6V

c. (A) ' G gfl gemmed (R) seumm@id

d. (A) saum gemeo (R) sflwmgid

e. alowL OFMwalsdensv

Which of the statement is correct with reference to The Estimates

Committee?

I.  Consists of 30 members

II. A Minister is eligible for election

III.  The term of the Committee is 2 years

IV. The members are from only Lok Sabha

a. I only b.Iand IV only c. I, Il and IV only

d. I, Il and III only e. Answer not known

LHII S  Gupalel UTSHSWnISmeT  SHeaualdbdab: SO @MU (Heiten
AUTHBIMIH6ME0 61FHI 6lenel SFiUITETen6:

L. 30 2 miiierysenen CaTeni(hs

II. wsxw whHHMN o prlenrs BxibOSHBHBLILIL 60D

III. AN BE Gupalear uHal STEVD 2 QIHLID SLEGLD

IV. o mgiierm oeweraumd S Femuuled S mbHSTE CHiTHOSHBHHSLILIGET
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a.l w’ @Gw b. I ioimnd IV 1o Gib c. IT, III i IV ol Gid
d.L T oppw Moo e alowr Gsfuelsdensy

Which one of the following Parliamentary Committee is Semi-Judicial in|
nature?

a. Committee on Petitions  b. Ethics Committee

c. Committee on Privileges d. Rules Committee

e. Answer not known

SIPHHEWIL.  LIMITEHOSIBES  GH(HHB6M60 6hdH @h G uTH B  ufumeve
SHETeNLOW|eML_UIg)?

a. elewienIILg G b. 9pomsls G c. Amiigflennd &g
d. elds @ e. alewL Oxfualedensv

Consider the following statements regarding committee on public
undertakings.

1. It was created in 1964 on the recommendation of John Mathai.

2. It has 22 members, 15 from Lok Sabha and 7 from Rajya Sabha.

3. The chairman can be from Lok Sabha or Rajya Sabha.

a. All are correct b. 1 only correct c. 2 only correct

d. 3 only correct e. Answer not known

CQUTEH HBIUOTRISEHEBT G (LD OGHTLTUTE LileTeU(hD FnBBISSHM6N DLTTUIS.
1. 85 el wrHSTUI  ufbgieny Gufled 196460 o (HeUTHSLILL L S

2. ®z 22 o _miieimeemerd OaTewiL gl 15 Geomdbsur wmmId 7 FreguisFum
3. smevalT Geurdsum (o)) grawsuTaled BmbaHl CHTHOSTGSSLILIL 60TLD

a. OmSHHID gl b. 1 w @b &M C. 2 w (B &
d. 3 w' @G & e. alewL OHfuledensv

The public undertaking committee was created on the recommendation by
a. Santhanam Committee b. JVP Committee
c. Krishna Menon Committee d. Swaminathan Committee

e. Answer not known

Qurgl B BI6)6HIGH6IT &1 WIM(HemL_ULI Ui glemyuiest DIQLILINL_UT60
Capmhmielaslil L gi?

a. FHITND G b. JVP @ap C. F(mHaeniGLoeTedt (@D
d. FamipTHear G e. alewL GFfwealevensv

The financial control exercised by the Parliament over the executive
through

a. The comptroller and Auditing General of India.

b. The Auditor General

c. The Finance Secretary

d. The Accountant General

e. Answer not known
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AhHw  uUTITEHLSBLD  OFweorl & oeeuedT  15&H  HOIFH  HiFH  FHS
S BLUUTL ML 0FaHFHID BeuT auplGul &GLb.

a. @HHUI HEHLMID HEWIhG BBID HEWNHMB DIGVIEUGVIT
b. &b FHemlbend Heneval

C. H&HHHIemm GFuwieomernT

d. smevemnid HMIHE SIEIAIGOT

e. alemL OFflwaledensv

A deadlock between the Lok Sabha and the Rajya Sabha calls for a joint
setting of the parliament during a passage of

1. Ordinary Legislation

2. Money Bill

3. Constitution Amendment Bill

a. Only 1 b.2and 3 c.land 3
d.1,2and 3 e. Answer not known

LIMJ T (@THLOGYTM &> &5 60T L (BSHOBHTLIT Q115%:5] Lo@FTHT AL CCRIGRIENE
LWSTLGSSLILBGS DS

1. gngmyewnt LDEFTHT
2. wewr WGFTHT
3. odwevemioli] FUL SH(HHS EFTHT

a. 1 L (B b. 2 wmmid 3 c. 1 wmmib 3
d.1, 2 oBmid 3 e. alewL Gxfuialsvenev

Consider the following statements regarding position of bills when Lok
Sabha is dissolved.

1. A bill pending in Lok Sabha lapses.

2. A bill passed by Lok Sabha but pending in Rajya Sabha lapses.

3. A bill notified for joint sitting lapses.

4. A bill pending in Rajya Sabha does not lapse.

a. All are correct b. 3, 4 are correct c. 2, 3 are correct
d. 1, 2, 4 are correct e. Answer not known

dbseneneuuilest  demevlillesr  Gurgl WGFTHTHHelNeT Hewew GNHH LeTeu(mLd
FaBBIGHENET  SYJTUIGLD.

1. wasenenaluied meviemauuleieien LOEFTHT SHTELTEUSHUITGLD.

2. Goord sumaled HenpGaummriulL @ wWEFTHT, FreRwFUTalsT Blaveneuulsy
BAHHSHTEL DIHI HTELTOUHUITGLD.

3. &L ouTelBg Smalssiiul L CFTHT HTELTaUSHULITEGLD.

4. grgwl Fumalled Hleviemauuleieien LOCFTHT HTeLUTUSHUITHTHI.

a. QMAHGID Fil b. 3, 4 & c. 2, 3 g

d. 1,2, 4 sM e. alenL Oxflwalsvenev

Zero - hour is in practice since
a. 1935 b. 1950 c. 1962 d. 1965 e. Answer not known
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uelul — GBI HewL (PenBLLBGSHSLILL L SL6wT(h
a. 1935 b. 1950 c. 1962 d. 1965 e. alewL G flwaledenev

10. Who is the only person who can vote in parliament without being a
member?
a. A minister who is not an MP (bmonths)  b. chairman of Rajya Sabha
c. Speaker Pro-tem d. Attorney General
e. Answer not known
© pIITeITe 606060 LITITEHLOBIBHIHL auTHHellbdamigul @ BUT wimT?
a. ol  FHTH SIMWFFT (6 LOTHEISHEN) b. @rgwisur FHemevau
C. HMHTIS FUT HTWSHT d. o LnTell Gegemyed
e. alowL OHflwalsdensn

11. Which of the following committees is not a Standing committee of the
parliament?
a. Public Accounts committee
b. Consultative committee to the Ministry of Finance
c. Estimates committee
d. Committee on public understanding
e. Answer not known
S8  OBTHHSLILL (BHelleTenalsHaied  61&H  LUTITEHOSIBHHET  Hlewevd G
SHlenLwingi?
a. Quryl saNsE G
b. Hg omwFsssHHear oLBeomFamend G
C. WHII S GW
d. Qurgld SHIDB B BICUSTRIBET &0
e. alewL GFflwealevensv

12. Which of the following is the largest committee of the parliament?
a. Public Accounts committee b. Estimates Committee
c. Public Undertaking Committee d. Petitions Committee
e. Answer not known
LITIT@HLOGITBSHSHID 2 _6iTen G (W&Herie0 slGUflw @& e1gi?
a. QUTEH BeThGHd G(1D b. wHANT GBS G
C. OuUTEIdH HIMB HBICUETHISET G (LD d. weidbser WeHTem @GP
e. alewL GFHflwealevenso

13. A new All-India Service can be created by
a. An act of Parliament b. An order of the President of India
c. A resolution of the Rajya Sabha d. A resolution of the UPSC
e. Answer not known
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14.

15.

16.

W SiFlev @bl Liewollulleneot L 2 (HoUTHS BulIeid
a. LMJTEHLoes FLL SHFHT cLPeULD

b. GuuIsHsH Hameveufe LENeERTUNGT (LPEVLD

C. LOMHlVMIBEMET Hienal SHTIOTETHSHT CLPGVLD

d. wsHw uemlwment BHTaUTENEOIULIGHET SSTIOTEID FLPEVLD

e. allewL Oxfwalesdensv

Which of the following is not a formally prescribed device available to the
members of parliament?
a. Half an hour discussion ~ b. Zero-hour  c. Short duration discussion

d. Question hour e. Answer not known

SIDHEWIL QUBMIGT — LITITEHOBIB 2 BILNOITHEHESTET  (LPEDBEOIDFTIT  FTSH60
(sma) 6151?

a. olmyent Ghy eleuTsid b. ymeduwr Gmyb C. GBIAWSTV aIUTHID
d. Gmzeail Gpyd e. alewL Oxflwalsvenev

Money Bill:

1. Cannot be introduced in the Council of States

2. Needs to be certified as such by the Speaker

3. Can be amended by the Council of States

4. President has to assent it without delay

Select the correct answer using the Codes given below:

a.1,2,3and 4 b.1,2 and 4 only c.2,3 and 4 only

d. 1 and 4 only e. Answer not known

uetol  LOGFTHT:

1. wrplevhisenmealuled Bend DBIPSILGSHS (PIQUITSI.

2. SUTHBTWITE0 FTeimenebaliL Geuewmr(hLb.

3. LOTHIGLRIBETENGUWITED H(HSHSBLILIL GUTLD.

4. GUISGH HmevalT SHTLHOSMH QULHD Dellds GeusmiHd

&6 OCaTBHBLILL (helTeriens OFmewi®  Glogvieen FmBmiHeiled elemeu  Filuimerenel
aed CHTOmH[HdHHa]LD:

a. 1, 2, 3 ommb 4 b. 1, 2 wBmb 4 Wl HD Cc. 2, 3 wBmIb 4 wL HD
d. 1 oBmb 4 w G e el OFHflweaiedamsv

With reference to devices of Parliamentary proceedings, which one of the
following statements is correct?

a. The first hour of every Parliamentary sitting is slotted for zero hour

b. The purpose of privilege motion is to censure the concerned minister.

c. Calling attention motion is not mentioned in the rules of procedure.

d. The Rajya Sabha can remove the ministry form office by passing a no-
confidence motion

e. Answer not known
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17.

18.

LTJT@BLOGI  BLaUgHmBHeler SHmalsamen GomCsrentesd OFmewi(B, LoD

FBHIBH6T6L 61FH FHULITETISHTEHLD?

a. UTJTEBHOGIB  STeledl  (PpHe0  e@h  wewll  Gryb  ymw  Gryors
QBIBBLILIL(H6ITeG).

b. Fmiyfenn FrotersHesr Crrsbsioneams GBI L  DIDIDFFO]  HEWIL LD
AEIIRIENE)

C. &6UeT T SHTOTEID HenL (penB allglseiled @GBILLIL allebensv

d. mUdsmauleveor STDTEISHSHET  (LPGVID  DTHCVBIBETENE  DIEHIDFF]TDEIGNUI
HMEVHD  (LPIQULD

e. alewL Oxfwealedensv

Consider following statement, choose correct answer from codes given
below.

Assertion (A): Leader of opposition plays a significant role to play in
Indian Parliamentary System.

Reasoning (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.

a. (A) alone is correct and (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A).

c. (A) and (R) are in correct

d. (A) and (R) are correct but (R) is not correct explanation.

e. Answer not known

LNeiTeU(HLD FnBHIB6TSH H(HSHIH:

gpm (A): @bFHw uTgmEpoes  (pedpsuled HTEEl & HemevauT USHIUITCIS]
(WPSIHWILILRIG, UHSH B

sryewid (R): QeuT QUTHIG Haidh@GHd GUpaleT HMeLMITEHAD OSHHUW TP
SLEDEUIWID  IOBBID  IDHGHUW  HFBAUD  DYMETLSHHAT  HewevalTHenend BaiTe
CFUILIITTHAD 2 6ITeTIT.

a. (A) wiew af, (R) seausl

b. (A) wsBp (R) &f wBpid (R) eemwg (A) & Fflwmer alendasongLd

c. (A) wigd (R) seu

d. (A) wppid (R) sf epemed (R) ereiiugy gilwimer allendaososo

e. alewL GFTwealedensv

Who among the following decides whether a bill is a money Bill or not?
a. Speaker of Lok Sabha b. Attorney General
c. Parliament Affairs Minister d. Finance Secretary

e. Answer not known

SIDHHMILUBBIOT @(h WEFTHTmal HiFH WCFTHTOUT levevH BT LCFTHTEU
6160 SHTIOTONHGD DIHBMTD BT GUiT

a. LD&HENenel FLIMHTUIST b. @hFw DTAGT HMeLEMID CULDEEMTEHT
C. BTLTEHOEHD aleusty SemwFst d. pHoHaemnB QFuwieuT
e. alewL GHfwealeoensv
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19.

20.

21.

Consider the following statements.
1. The President cannot send back the constitutional amendment bill for|

reconsideration.

2. The session for private member bills is held on alternate Fridays from|
2pm to 6pm.

a.11is correct b. 2 is correct c. Both are correct

d. Both are wrong e. Answer not known

LesToU(HLD SnMBmISeN6T  SLITUIRLD.

1. opdweoemioli] HmsHd WEFTHTHEHM6N (GLQUITHHSHHmeVaT BILTFevmendE,
SH(HOL SIILIL BUIEOTS).

2. FHMBUT FLL(p6TUMI6| BHTeT alauTHd @h eumfd Il (B  @(h 6uTJLD
GleueTerlbalpeniodeiled LIMBLSED 2 16wl (LPGHe0 6 D60l aUemT HenL GILIMILD.

a. 1 & b. 2 &l C. @rewi(p &

d. Syewipio sHeuml e. alewL Oxflwaisdenev

Consider the following statements.

1. Lok Sabha can make laws on matters in union list and concurrent list.
2. Lok Sabha alone has the powers to amend the constitution.

a. 1 is correct b. 2 is correct c. Both are correct

d. Both are wrong e. Answer not known
LNesToU(HLD SnMBmISHN6N  SLITUIRLD.
1. D&&enenal  HSHUW  UlIlguied  BMID  QUITHIILLQUIeIed  FLL MIGHeNe6N

® (HEUTHS (LPIQUJLD.
2. opflweoemolil HHHS DIHSTID HBeTemneUdHE WL BHOWL o sTeng.

a. 1 & b. 2 & Cc. ®yewi(hd &
d. BB Heum e. alenL G fluwelebensv

During the 2nd reading of the bill in parliament, the bill may be referred to
which of the following committees?

1. Parliamentary affairs committee

2. Public accounts committee

3. Select committee

4. Joint committee

a.1and 2 are correct  b. 3 and 4 are correct c. 1 and 3 are correct

d.1and 4 are correct e. Answer not known
uTITEHLEBSHSH0  BaTHTallear  26ukh  aurdlldenr, eeupld  61HGRAIBS
uflFevenentss@ SleIlILINILIBLD?

1. umgmEHEB aleusnysd G 2. QuTgl HWISHGHD G0
3. Gaiteyd G 4. gl (HHG WD
a. 1, 2 gl b. 3, 4 & c. 1, 3 &M

d. 1, 4 &f e. alenL Oxflwalsvenev
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22.

23.

24.

25.

Ll Daca PLI. Q044 24220426 A2QA7ZEEER _QQANIIA1Q7

Consider the following statements

1. Public accounts committee was set up in 1921 under the provision of
Government of India Act 1919.

2. It was framed with the purpose of ascertaining whether money granted
to the Government by the Parliament has been spent by the former within
the “scope of demand”

a. Both are correct b. 1 is correct C. 2 is correct

d. Both are wrong e. Answer not known

LesToU(HLD FnMBmISHem6N LTTUIS.

1. OQuTgisewieagsd GW 1919 BhsHu  QPaF sl S 192160
DIMDSHBLILIL LG

2. UMITEHLOSIBSHHTEL  DIFTRISHHMBEG  aUPRISIULL  uUewid  CHemeuuled|
GTELEMEVHG6IT  (LPSTETTET  DIFFTHISSHBHTE0  GFAILLILLL ST 6N HD
SILBUD CHTHBHHIL T BFH 2 (HeUTHBLILIL L ).

a. ®rewip &ifl b. 1 & c. 2 &

d. Syewipio sHeuml e. alewL Oxflwalsdenev

The money bill is defined in which Article of the Constitution of India?
a. Article 109 b. Article 110 c. Article 111

d. Article 112 e. Answer not known

@paHwu  ofwemolig  FULGHHe  ebhH  flealled  uewr  0GFTSH
QUEDTUIMISSLILL (HeiTerSH]?

a. fley 109 b. fley 110 c. Mfley 111

d. Ofley 112 e. alenL G flwaleveney

Which of the following committee Scrutinise the Appropriation Accounts
of state and Report of CAG (civil)?

a. Estimates committee b. Committee on Public undertakings

c. Public Accounts Committee d. General purpose committee

e. Answer not known

LOTHIVMIBENMNET RHIHHBH HEWISHGHIBMENUD BDHHU DJ&GidH HWIHGHH FH6wlHnDH
gwevalfledr (GaFTT) MibmImWUD ule] CFUISH aTHGUaleT (PpHFHUl
LieuotlWIm@Lb?

a. bHUIILBH & b. QUTEISSIMB B 1BI6U6TSE (LD

C. OUTg BH60T18EHEE (D d. Qurgl GpBTeHEGEED

e. alewL GFHflwealevensv

Opposition party in parliament constitutes, a group of its members to
examine portfolio wise issue though they are not real executive is?

a. Parallel cabinet b. Secondary cabinet c. Shadow cabinet

d. Kitchen cabinet e. Answer not known




26.

27.
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[BITLT@HLOGIB S FH)6VI6iT6N DTS B FlH6l PRI} SHlemulleviLd © giTeN
AleuBMIRIGMETL UMK SITU SHIoG 2 BN Teemend 6HTeNlL @@ G (pe|
SIMLGHBHI. DG eTlUTl SMPSBLILIGHBHI?

a. BT BIEMLDFFTEN6 b. ByewiLmbiHleney DIMIDEFFTenal
C. HIP60 HIMLDFFT6N6U d. GwuU SHemwFFTme

e. alowL OHflwalsdensn

Which of the following statements are true about the two houses of

Parliament?

1. The two houses of Parliament enjoy equal rights except financial
matters.

2. A Money Bill cannot be introduced in Rajya Sabha.

3. Rajya Sabha may discuss the Annual Financial statement but it has not
power to vote the Demand for grants.

a. (1) only b. (1) and (2) only c. (2) and (3) only

d. (1), (2) and (3) e. Answer not known

gilwmer  ugenew CHTHOSHBHIEAID :  BILTE@HLAIBSHHE BH  Dieweudbereuid

LTedIeu(plD SnMBBIGeied 615 2 6wleniD?

1. UTITEBHLEBSIHE BH DiMauSelald HFH alausTImseT HalJ DinTHS|
HlemmBH6ITVILD FLD SIHHMJLD LOBMILD gLD (DIHBHeTOH!) o flewip
DIV B 6313601

2. grggw suneled uewr WEFTSHTmeU DVPSLILGSS (PIQUITSI.

. JTgRWw suTalled UBLTHST BHiHbHemed SPfibemspenul aleuTHeE60TD. HLETT60
relwl Camfdamaseiled aThEalb@ld HHSTTD E606m060.

a. (1) w @B b. (1) wmmb (2) WL G c. (2) wBmd (3) WL (B
d. (1), 2) wBmb (3) e. alenL O flwalsveney

(9

Consider the following statements

1. An amendment of the constitution can be initiated only by the
introduction of a bill in Lok Sabha.

2. The bill for amendment of constitution can be introduced by a private
member.

3. The bill requires prior permission of the President.

a. All are correct b. 1, 2 are correct c. 2, 3 are correct

d. 2 only correct e. Answer not known

LNesToU(HLD FnMBmISHN6NT  SLTTUIRLD.

1. opflwevemiolll] HHSHHD 6GILUEH @  CFTHTen6  DSHSH6ETENIUTED
SIN(WPSLILBHBISH6T cpeold L HOGD GIGHTLMIS (LpIQULD.

2. SpdlweventoliL] FLUL H(HHSD LoCaTHTemeY 60 o miiesymed
SPWSIUGSS (Piguid.

3. wGsmmTalBE memaHusHule (el Siaind GHemnel.

a. SMAHHID i b. 1, 2 & c. 2, 3 g

d. 2 w' @G g e. alewL Gxflweaisbensv




28.

29.

30.

Consider the following statements.

1. Joint sitting can be called if their disagreement between the two houses,
while considering constitutional amendment bill.

2. Speaker presides over the joint sitting.

a.11is correct b. 2 is correct

d. Both are wrong e. Answer not known
LNeTeu(HLD FnBmIBHEN6T HLTTUIR|LD.

1. odwevsmioli] HmHsH WCFTHTaleT UTFevenaiuled &(hH DmUSHGSGLD H(HHD|
Goupium® SmHULNT Fol B SIDTEN6U  DIGNLPEHSHE0MLD.

2. Gl (b Sl L SHFHBEG FUTBTWST HeN6VEMID HThIG6UTT.
a. 1 wLGw &M b. 2 w @G &M

d. Syewipid sHeum) e. alewL Oxflwealsdenev

c. Both are correct

C. ®yewi(pd &ifl

Match the following

A. Adjournment

B. Adjournment Sine Die
C. Prorogation

D. Dissolution

A B C D
a. 4 2 3 1
b. 1 2 4 3
c. 3 1 4 2
d. 2 4 1 3
e. Answer not known
QUT(HSHHIS.
a. PHHemalLIL]

b. smeveumTuIBB @HAHemaliL]

C. &L LGHOSTLOM] @HHM6USHH60

d. omaimul HMEVHH60
A B C D

a. 4 2 3 1
b. 1 2 4 3
c. 3 1 4 2
d. 2 4 1 3
e. alewL Oaflualsdenev

Which one of the following cannot be introduced first is the Rajya Sabha?
a. Constitutional Amendment
c. Annual Financial Statement

e. Answer not known

10 1 Dagao
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1. Issued by president.

2. Terminating for a specified period.
3. Ends life of existing house.

4. Terminating for an indefinite period.

1. QemHUSHWITeD auUPmISLILIHLD

2. @ GUUULL &TeudIHBE
RSHSHMeUSBLILBHBS.
3. Slewauulledl QUTDHTET (LPIY6UML 6

4. STeVAUMIWDBM HTVHHMBES @HSHeneuLllL]

b. CAG Report
d. Bill to alter the boundaries of any state




31.

32.
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Leiteu(heuecieuBmled 61 (PpHeJeL  LoMBlevmiGeTenalulsd  SIS(PSLILGSHBHLILIL
(PIQWITSHI?

a. 9IFFweveniolil] SH(HHHLD

b. CAG 9pisma

C. UBLTHAT FHFHBenev Sipidbens

d. b s0eunH THEVHHGT 6T60EMEVBHEMGTUID  OTHBEBIISBEHTET DGFTHT

e. alenwL  OFFlwaledenev

“One’s knowledge depends on how he learns”-What is the simile that
Thiruvalluvar uses in this meaning?

a. When water flows like a flood

b. In sandy soil, when deep you delve, you reach the springs below
c. When flowers, in barren soil, on sapless trees, shall blow

d. Like staff in hand of him in slippery ground

e. Answer not known

“dHH6IT Heval SMM SleNIBEG M6 2amId” - SUCUTHEHSHGHSH D (HEU6TEHEUT
FBID 2 _alemD 61%l7

a. Geueitend SHementl LDEVTHL L LD

b. QT Lewes &y wewriBGs e

C. auBBed WJD FHerilTd SHBWI

d. Bupssed 2 mLu oaBBIEGHTe

Match the following

A. The Method of learning 1. Education

B. The eyes to the living being 2. Learning without any error

C. The best Wealth 3. Maths and language
A B C

a. 3 1 2

b.2 3 1

c. 3 2 1

d1 2 3

CUIT(HSHHIB

A. sBEL (pems 1. s60a

B. o Wiitdes seuisel 2. Lemipuilevsomosd &mmed

C. allwp&ogsdeuld 3. eTeWIEID 61(LPSHSHID
A B C

an op
R W N W
Q= =N

1
3
2
2




33.

34.

35.

36.

1

These four a light of dreaded kings reveal” What are the four
virtues of a King according to Thiruvalluvar?
Creation, Production, Protection, Planning
Morality, Wealth, Happiness, Eternal dwelling place
Beneficience, Benevolence, Rectitude and care for his people
All the above
Answer not known
BTSIGHLD 2 emLwimemd CeoubsTdh@ 6ll”, 66l 6ueTEHeUT  6TauBem®
CoubHamIsHE FnmIFHBIT?
a. BUIMM6D, FLLG6D, STHH6V, HITHH6UEGSHH60
b. &mib, QUIHET, B&TLID, @i
C. OBTemL, H(HWWI, BHFH, HNMTHSH HIQHNENDH BITSHIH60
d. GuBaIIL DIMRIHHID
e. allewL  OFflwalsvensv
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What is the seed that causes the innate suffering that comes to all living
things at all times?
a. happy b. wealth c. ruling power

c. desire e. Answer not known
6Te06VT 2 UITSHEHHESLD 61HBTVHSHIID QLIWITOD aubhSlers Lipaldh HIGILISHmS
® eWILTHGD alHdl 6157

a. @eruL b. @gevauld c. I d oFHBMID

d. eyema e. alemL s flwalsvenev

According to Valluvar, If anything be desired, should be
desired

a. To attain the highest state of wealth

b. The world must come under its power

c. Freedom from births

d. To control the five manifestations of nature

e. Answer not known

Q(HEUGT HaTUTIDaN6D eiTenm Geuewingelmed DiFl 6IFHIUTE BHHH Geuewi(BLD 660N
SH(HEUGTEHOUT  FnMISIBITT.

a. © Wiphs GFevaubBlmevenu! SienL Ul GeuewiBLD

b. 2 &b FaT FHBMIHHET S auy Gouewi(HLd

c. Umpaumplensvenul Sienl wl Geauewipld

d. uehsFyuFHIBMET DI HBWITEHD aleLeVmID GeuemsT(HLD
e. alemL OFfwalsvensv

Two different natures in the world, these are

1. wealth 2. Mendicancy
3. The Dread of Mendicancy 4. Knowledge
a.1,2 b.2,3 c.3,4 d. 1,4 e. Answer not known
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® BHHleT Buleol] eaflest UTTemeuuled @TeHi(h UMSLILLL &I Diehal WITeneu?

1. Ggeveu (Lpemm 2. ®r6y (pemm
3. @reu&FsF(pens 4. 96y (POB
a.1,2 b.2,3 c.3,4 d.1,4 e. alenL OFpfuialedensy

Consider the following

Assertion (A): Kavach is a train collision avoidance system developed by
Research Designs and Standards Organization

Reason (R): Three trains collided in Odisha in June 2023

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true but R is not the correct explanation of A

c. Both A and R are false

d. Ais false R is true

e. Answer not known

LesTeu(hHeueTalBenm  SLU1SH

aBp  (A) : seusd eaeid @yuisd Cursmevd HAITHGL  DlenLOLIEHL
SITUIFF augalenIolil] OBBID HJ DIEWIOLIL] 2 (HeUTeGHBSH

SHITIJ GUOTLD (R): areil 2023060  cLPGITI OBHTLTOUIYHET  @QIFTAT6
GLom )& O\ IT6uTL 60T

a. A ioppdb R @rewipio gfl Gweyd R AelBg gfwmer alenssiom@Lib.

b. A wppid R ByewiGd afl Goeid R AelBg sflwmer alendsisen

c. A opBpib R @rewiBlo Heim

d. A sam R &

e. alewL Oxflwealedensv

Squash World Cup 2023 was held in

a. Mumbeai b. Bhubaneshwar c. Chennai
d. Karnal e. Answer not known

2023 5D SHLENTQET VGH6ITOS 2 60HSECHTIML HewL OLBB G LD
a. (IpLeLl b. yeuGarageu c. Qoaiener
d. &fesmed e. alewL Oxflwaisvenev

India’s rank in Global Gender Gap report 2023 is

a. 146 b. 131 c. 135 d. 127 e. Answer not known
2023810 SLewigesT 2 60&h LTellenr @enl Oauell Smldbensuled @haHuwimaler @)L b
a. 146 b. 131 c. 135 d. 127 e. alewL G flwailsvenev

Arrange the following states based on their rank in State Food Safety Index
1. Tamil Nadu 2. Gujarat 3. Kerala 4. Punjab

a.1,2,3,4 b.1,3,2,4 c.3,1,2,4

d.3,4,1,2 e. Answer not known
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eiTeu(hd  OTHleVmIGmeT  OTHeL o eoiell  UTHISTIY GBI 196
STeuTeng L ILBSHHIS

1. sODHBTH 2. HYITH 3. Gayemt 4. UEhaLI
a.1,2,3,4 b.1,3,2,4 c.3,1,2,4
d.3,4,1,2 e. alenL Oxflwalsvenev

The theme of World Environment Day for the year 2023 is
a. Solutions to Plastic Pollution

b. Raise your voice, not the sea level

c. Many species, one planet, one future

d. Beat Air Pollution

e. Answer not known
® 0% FMBIFGHD HahHer 2023 D HLEWIYBHTET MLOUISH(HHSHI

a. AR TFUTIYBSTET SHT6|He6l
b. @revwev 2 wWiTGHIGMMD, HL 6D DI L GHenHUIe06V
C. uev o uilfemiselr, @6y Csmer, @G egliTsmevld
d. smBm wraEuT en  wpplungliGumb
e. alewL GFMwealedensv
Cyclone Biparjoy was named by
a. Oman b. Bangladesh c. India
d. Sri Lanka e. Answer not known
emULITERTUI Lwewld@ OuwfliiL Br
a. @LDGIT b. ams@xaibd c. ®bHwr
d. Bevmiens e. alewL Gxfuialsoeney
Match the following
A. International Yoga Day 1. June 21
B. World Blood Donar Day 2. June 29
C. National Statistics Day 3. June 14
D. World Refugee Day 4. June 20

A B C D
a. 1 3 2 4
b. 1 4 2 3
c. 1 3 4 2
d. 1 2 3 4
QUT(HSHBHIH
A. FTauBshg Buimsm Hed 1. sgrer 21
B. 2 v @5z Hrew Heid 2. &1 29
C. Gxpdlw eafluiuied gHeombd 3. egreur 14
D. 2 o0& SimFHden Heobd 4. agreir 20
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If a car travels at 60km per hour for 2 hours and then at the speed of 80km
per hour for 4 hours. What is the average speed?
A.68kmph B. 70kmph

C.72.1 kmph D. 73.3kmph

QM &TT Wweld@ 60 &b CousdHdled 2 wwewlChIbd uwenldbHBa . et 4
el GBI ewldh@ 80 &b CoussHHled OFevdpgl. Fymal Geusld eresren?
A.68kmph B. 70kmph

C.72.1 kmph D. 73.3kmph

A person crosses a 600 m long street in 5 minutes. What is his speed in km
per hour?

@@ BUT 600 15 GOxmevey 5 MIOLGHHO SLSBEBIT erefled &S / wewll —60
SlurgH Geusid?

a.3.6 b. 7.2 c.8.4 d. 10

A train travels 82.6 km/hr. How many metres will it travel in 15 minutes?
@M Julled ewld@ 82.6 &S UwenlSFBH, eleled 15 FHOLHHO DG
HLHGLD CFHTenev6?

a.2025m b. 20450 m c. 20650 m d. 2075 m

The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and
return downstream to the original point in 4 hrs 30 minutes. Find the

speed of the stream.
SwFuBs bl @ BuwhHTliuL &Hear Geusld ewldh@ 15 H.6 66as. SIIULG
BCIT LSt FHemguled 30 &S Hgd GFaim, LB adiTsh SHemguled HlmbLl
4 1oewll 30 MIOLMISeTe0 WewiBD UBLULL & $HBEG HHOL aubHTe0  MHiflest
CouspHmepd SHTewIs.

a.6 km/hr b.3 km/hr c. 5km/hr d. 4 km/hr

A car travels 420 km in 5 hours. Find the distance covers in 7 hours and 30
minutes at the same speed.

R  HpHH 420815 HMIHmE 5 wewl  CHISHHe0  HLHIMS. 9185
GoumssHFHle0 OGFevaud A WHSH 7wemll 30 HIOILMIS6T6D 6l6laleTe] SHTTHMBHH
&L SHGID.

A. 600 km B. 610 km C. 620 km D. 630 km




49.

50.

A train 130 m long is moving at a speed of 65 km per hour. How Long it
will take to pass an electric pole.
a. 7.2 seconds b. 6.8 seconds

c. 8.9 seconds d. 6.3 seconds

1300 menmpenLw ¢(H @Bld @yuleder Geusld, wewldEG 65 &6 eeled, b
OGIFT] SOUSHSHene S5 DiFl 6IhHHHCSTeMEHD GBI wmg?

a.7.2 alenmgamel b. 6.8 alenmigaseit

c. 8.9 alemgaseir d. 6.3 alemmgsel

The speeds of three cars are in the ratio 2 : 3 : 4. The ratio of the times taken
by these cars to travel the same distance is

cpIml HTHeMer GCousmiseaier aldlamiser (WempGw 2 : 3 : 4 @6 snrHmg
HLHH BUDepetiml HMTHEHD 61hHH BTenend ChIHIHMBTR aldBSHLD

a.2:3:4 b.4:3:2 c.6:3:6 d.6:4:3
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